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Example 1\
Array[256] of char
Type Expression array(1..256, char) consists of :

1- Constructor array ( that applied to)
2- Subrange [1..256] and type char
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Example 2\ T integer

Type Expression pointer(integer) consists of :

1- Constructor pointer ( that applied to)
2- Type Integer

Example \ suppose you have the following grammar:
P—- D;E

D—-D;DJ|id:T

T — char | Integer |array[ num ] of T | 1T

E — literal |num |id | Emod E | E [E] | E®

Jaadll 8 Ssasll dpan 3 Tesll oomas® D — id 0 T ZUayl dag el 4l o)
identifier <=l (alall

addType( id.entry , T.type ) applied to entry of id in symbol table and type
expression (type) of T.

P—- D;E

D—-D;D

D—-id:T {addType(id.entry, T.type )}
T — char {T.type = char}

T— Integer  {T.type = integer}
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T—1T1 { T.type = pointer(T1.type) }
T — array[num] of T1 { T.type = array(l..num.val , T1.type)}

Type Checking for Expression

E — literal { E.type = char }
E — num { E.type = integer }
E —id {E.type = lookup(id.entry) }

Al il Jaaell die el Jan (A g 5all g gl alad aasias Ay e 3 ke & Lookup(e)
Type dsalall iy 5 Clay Glaall de 55 Gl il 8 jna jeday Laind @ o

E—El1mod E2 { E.type = If El.type = integer and E2.type = Integer Then Integer
Else Type Error }

E—E1[E2] { E.type = If El.type = integer and E2.type = array(s,t) Then t
Else Type Error }

E—E1t { E.type = If ELl.type = pointer(t) Then t Else Type Error}
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Type Checking for Statements
Statements do not have values so we assign basic type (void) to them

S—id:=E  {S.type = Ifid.type = E.type Then void Else type Error}

S—ifEthenS1  {S.type = If E.type = Boolean Then S1.type
Else type Error}
S—whileEdoS1  {S.type = If E.type = Boolean Then Sl.type
Else type Error}
S—S1;S2 {S.type= If Sl.type =void and S2.type=void
Then void

Else type Error}



